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COMMERCE
(General)
Paper : 1-2
( Financial Accounting-I)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

IS 2T SIS Tes fE

1. (a) Answer the following as directed :
1x5=5

wore frRIRIRs o Sl T fumn e

(i) In case of hire purchase, Asset
Account is debited with price.
(Fill in the blank)

OOl T (Fae AP R
s e (Tt 312 97 77)
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(i) Recoupable shortworkings are
shown in Balance Sheet, as a .

(Fill in the blank)

Tgeriae WeafFa s Rowsl
Al = | (Tt 2 97 =)

{iii) According to principles, closing
stock is to be valued at cost price

- or market price which ever is lower.
(True or False)

o PR AR AR T FET
3 IR 5T R 0 GIROR o iRt
M I st @ =)

(iv) As per dual aspect principle,
Asset = + Liability.

(Fill in the blank)

ot T S ShptR, Aeife = +( |

(T IR 73 )

(v) Under sectional balancing system,
a Trial Balance be prepared only
out of Ledger.

(Fill in the blank)

e Ao dmfee v 4feaem
IRIZ 93 g€ emsia o 3R AR |
(T I 73 =)
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(b) State whether the following statements
are True or False: 1x5=5

were fral RYSIR ey (7 wptey ot o

(i) ‘Separate entity concept’ is not
applicable to company.
‘o STT 4T (FTOINIE (FIS
ey 9=A |

(ii) Shortworking arises even if there
is no minimum rent.
Teu ©Iol agAe WHeFE T w
I

(iii) Accounting standards are set by
Ministry of Finance.

v S e Taeee el
IR

(iv) Instalment purchase system is an
agreement of hiring goods.

RFfPere T 2@ = ¥ ©TIK IR |

(v) Accounting principles are generally
based on practicability.

T251oRraet TSTIZ ALRAITS IRIITOR
8o fofe 33|
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2. Answer the following questions in brief:
2x5=10
fasfeiRe e oy Se fan

(@) Mention two defects of sectional
balancing ledger.

e Felere Ao Rrmer o7 g Srae
|

(b) Mention two limitations of Accounting
Principles.

iR Mieema 75 TaRaor Td 31

(c) Write -the meaning of recoupment of
shortworking under Royalty Account.

T 1ol el WHeqRie wRovEaT e
forat

(d) What is meant by ‘down payment’ in
hire purchase system ?

SIeIFT A%foe ‘SIBH «iR{eNe’ Ww B 2

(e) Mention two advantages of self-
balancing ledger system.

TGS AoT simlon 751 Rt Brai
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3. Answer the following questions: 5x4=20
oo fal AT Ted o e

(a)

(b)

Mention five modifying accounting
principles.

oM siRasTiE Afe ishr TEd 4|
or /7%

State the nature of accounting

information.

fBpio ©UR oS TICE ol

Explain with example how the sectional
balancing system works.

WWWWWWW’@W
I 1A

or /7

Write a brief note on the special
features of instalment purchase system.

faf¥re o1 Ay Rer RESFET 8N
o3 (Rt fovat )
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(c) A seller sold a machine on hire purchase
system, the cash price of which was
payable as ¥ 12,000 down and balance
in three equal annual instalments
together with interest @10%. The
amount of instalment including interest
was ¥ 17,600. Determine cash price of
the machine and interest for each year.

& ez oo Jmfve 9¥ TFATS
@bt F9m TeR 12,000 T Rt A
sReiy 3R A WF IF B FTT 10%
7T 7o 4R fSR61 s e Bi¥s fa e
¥ To7 o9 (TS 17,600 T 27 | TSI
o T WY AT o R =i

Or /7t

State the importance of minimum rent
in a lease agreement. 10

3 7B pfeFe Jod OITR @3y & T 3= |

(d) State in brief, the accounting treatment
of shortworking under Royalty Account.

TG fEhIo TTiNe RN ZploRae gl
@I R, SPF |
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Oor/ 733

Roy Ltd. leased some land to AB Ltd.
at a Royalty of Re 1 per tonne on the
output raised subject to a minimum
rent of ¥5,000 p.a. with the right of
recoupment of shortworking during the
first three years of lease. The output
for the first 4 years were as follows:

0 FRGm R TR 2fS 5 1 ot det
fptore g S wrere et | Prrow Rejfd A
TR 5,000 5 4 4 = W% AW fOlN
T IR WIB AR FOIRIT LR T
oy goe sife i Qi | 22w oIk
T[T Tesma SR Sfest WFERS @[ e

First year (2939 3=7) — 3,000 tonnes

Second year (fa$a I=7) - 5,000 tonnes
Third year ($O17 I=9) — 9,000 tonnes
Fourth year (B?Qf Izq) - 8,000 tonnes

Prepare the statement showing the
calculation of royalty and shortworking.

7GT i gt el TR RS s w11
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4. Define Accounting Standard. Explain the
procedure of setting Accounting Standards

in India. 3+7=10

IR TR YT | SRS i e
Ao TR CFae AT AGS I P

Or/ M2at

Discuss the benefits and limitations of
Accounting Standards. 5+5=10

RpIoReR NPT R4 SR SPRE AT 4 |

5. From the following particulars for the year
2021, prepare the required Adjustment
Accounts as they would appear in General
Ledger as on 31.12.2021 under self-
balancing system. 10

2021 T FERERe s fes Tl smies
TS AEHGNT ALAEH BHITPTTR AR AT
31.12.2021 ©ifR¥s &FS T4 ¢

1.1.2021 Debtors Ledger Balance ¥ 1,37,000
WM ST Oge

1.1.2021 Creditors Ledger Balance ¥ 16,400
sfeqmiy 4foxw ©ge
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Transactions during the year:
THEC (RN RN 3
Credit purchase

AN &

Credit sales

TR Rl

Cash received from Debtors
AIZFT A9 (AR 4

Cash paid to Creditors
sfeamies ARCNY T4
Return from Customers
AT odl fras

Return Outward

7 e

Discount received

el B!

Bad debts written off

SRR W SR
Acceptance received from Debtors

&I o (iR Tgle
Bills Payable accepted

4 Re a
Cash sales

o )

Sundry charges debited to Customers
&g e (ke 1 [y @
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6,250
6,950
7,700
9,200
200
300
180
720
2,550
3,600
5,000

S0
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7 (ba)

Allowances from Creditors 160
NG 211 ©i5!
Bills payable dishonoured 900
ot el eprsifve .
Discount allowed to Debtors 130
cmiss Qg
Cash purchases 3,090
qM &
Bills receivable dishonoured 210
glief Rer oI
Bad debts written off, now recovered 90
SRS 3 ST@RTE 39 A1fy
Transfer from Bought Ledger to Sales Ledger 150
Bills receivable discounted 500
ene et B

Or / 7i34Y

From the following figures, prepare a Total
Debtors Account and Total Creditors
Account for the period ended on 31.12.2021 :

5+5=10
w7l ©UR <91 31 Rerra e WGs{a! R AE
T (MR it @ Y s fRotel egs 9 3
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Debtors on 1.1.2021
1.1.2021 ©IfR43 (WM
Creditors on 1.1.2021
1.1.2021 ORI NG
Cash paid to Creditors
SNGAMITE T 4 ARCIY
Cash received from Debtors
(IS SR 5w 4 ey
Purchase

¥l
Discount received

A MG
Bad debts written off

AR W SR
Sales returns

Rl s

Purchase returns

o7 e

Interest charged to Debtors

(AWMISY 8ATO W
Debtors cheque dishonoured

(MR (5% STHINS
Discount allowed

&R B
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¥ (%)

19,270

12,150

76,130

1,29,950

88,490

2,860

560

930

1,820

50

760

3,560
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Sales 1,30,600

Rl

Bills payable accepted 8,900
orra e Rige

Interest on bills payable renewed 30
TR A 2o (R eAFe

6. Mention the obligations of the hire purchaser
and the right of the hire vendor under the

Hire Purchase Act, 1972. 5+5=10

SITH-TFA Wiz 19727 TS SIGlaReR WigNTe
TSl W% ol [FrreR SR Smd 11|

Or /73

Mr. Das purchased a machine from Mr. Jain
under instalment payment system on lst
January, 2018. It was agreed that ¥ 15,000
was to be paid at the time of signing the
agreement and ¥ 15,000 annually for 3 years.
The cash price of the machine was ¥ 52,300
and the rate of interest was 10%.
Depreciation is charged @ 20% p.a. on
diminishing balance method.

Prepare Machinery Account and Mr. Jain
Account in the books of Mr. Das.
5+5=10

4 (Sem-1) FAC-1/G 12



iz 7R sifee SR 2018 wifvs [ TR sl
BT srmfoe gt S [feet | pfe e (@a
FATS 15,000 B =% &fS I79 15,000 5t f5F{
IR™eA AAReIY IRA (FoiR WS = | T@NoITT
9% WiIN 52,300 T W% R X 10%, G 20%
29T FAZPH TP 8oige o 4 I |

(o] 3RS IFNITST fEptet = e oma o1+t e e
cnl

7. K Ltd: hold a lease of a coal mine for a
period of 10 years commencing from 1st
January, 2015. According to the lease, the
company is to pay 75 paise as royalty per
ton with a minimum rent of ¥ 15,000p.a.
Shortworking can however be recovered out
of the royalty in excess of minimum rent of
next two years only. For the year of strike,
the minimum rent is reduced to 60%.

2015 51 Az ST o 10 197 I .
FHRGm Tue AR ANRT AT A | NG PR
@RI &S TFe 75 +{351 TgFI FA9CS PO
©rel 15,000 53 Aoy sRe @ifaR ) Wbeafi
SIS B! IRAS PoN TIGIeF @R TR TIH[
91 FO7RA IR AT | B (Y IFES Paos
©iel 60% ZT W
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The output in tons for the 6 years is as

under :

4fiT 6 TS 7T AR Tesivm wnifes

499 8 :
2015 — 10000 tons
2016 — 12000 tons
2017 — 235000 tons
2018 — 20000 tons
2019 — S0000 tons
2020 — 15000 tons

Srike (4(<5)

Prepare Shortworking Account and Landlord
Account in the books of K. Ltd.  5+5=10

. Fifiooe 32re WHeTIRR Rpist =% g=fia Rie
e |

Or / 723!

Tata Ltd. is a publishing firm. It has
commissioned Dr. Deka to write a book.
Deka’s contract states that his royalties will
be calculated as follows :
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la)

Bi5T FRET 251 937 STRE (IS | G AT (BT
T (T I Ferst iRkt Reaifere sk s
e 9 §iE SPEIR (06T R 75l TR TS
T A 4Tt Bple TN = 8

() He will receive a basic payment of ¥ 40
for every book sold.

AreIFdd [Folde RP e sl (08T
40 B3Il ARTNY 3 ]

(i) The minimum payment during each of
the first two years will be ¥ 40,000. The
publisher is entitled to recover any
shortworking from the royalties of the
3rd and 4th years. The maximum
amount which can be recovered during
any given year is limited to 25% of that
year’s royalties.

YN R ATOJF IS (V€T [rox 40,000
BiitE SRty T )| TS Wik gOIW I
Aq TNF (DI R WP AR
FEIN 7 Hloomd IR «if | e I=me
ATHIT (MDA Tws IR AN it =i
(12 IR FIFHR 25% 1 foge s A

(iij) There are no minimum royalties from
year 3 onwards.

TOI IR A ! Pow FgIR Al AR
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(iv) All royalties are paid on 31st December,
the last day of accounting year.

2o T (T Tl wiefie 31 Tes wikee
T TG SRCNY IR AR

(v) The book was published during 2017.
The number of copies sold in each of
the first 4 years were as follows :

2017 e oI oo Tt e | oS
TER | T AT 4 T/E olo [l

3 g

2017 — 800
2018 — 900
2019 — 1400
2020 — 1800

Prepare Shortworking Account and Dr.
Deka’s Account in the books of Tata
Ltd. 5+5=10
I AT IO ek Bpiel o
T2 (G f2plol WS Iy
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